STITCH WELD

7/18"

pETAIL A"

)
9/16" SQUARE OPENING TO

FACILITATE CARRIAGE BOLT

3/8" - 16 UN.C. STAINLESS STEEL NUT
NOT GALVANIZED , WELDED TO BACKING PLATE

CARRIAGE BOLT PLUG
SEE DETAIL "G"

STITCH WELD

ISOME TRIC DRAWING

OF ASSEMBLY

NOTES:
. PEDESTAL TO BE 7 GAUGE ATMOSPHERIC CORROSION RESISTANT STEEL,
SUITABLE FOR HOT DIP GALVANIZING
2. INSIDE PANEL MAY BE 12 GAUGE
3. DOORS SHALL BE INTERCHANGEABLE
4. ALL SEAMS SHALL BE CONTINUOUS WELD
5. ALL WELDS & EDGES SHALL BE GROUND SMOOTH.
6. PEDESTAL TO BE HOT DIPPED GALVANIZED TO CSA STANDARD GI64-MI98I, NET RETENTION OF 600 g/m
7. MINIMUM DIAMETER OF FLAT PORTION INSIDE CUP WASHER TO ACCOMMODATE STANDARD 3/8" SOCKET
8. FOR SPECIFICATION DETAIL CLARIFICATIONS, CONTACT THE CITY OF WINNIPEG, TRAFFIC SIGNALS

DESIGNER AT 986-4195.

9. ALL BOLTS AND NUTS SHALL BE STAINLESS STEEL-(S. S.) 3l6 TYPE.

“C“ /
13/16" 5 - §
16 3/8" *
14" 16 GA. ALUMINUM N
| .
AgERg =
Ll___|J
. — 3/4" ‘ /{
| |
* LT — N
= ) — < — <L8"
‘ — 1/16" R TYP. o
— >
, \_'\\ ||B||
1 3/16 > 3/8" x 1 1/4" - 16 UNC DETAIL
N STAINLESS STEEL BOLT
11/8" @ @ .
TYP. ™ » BOLT & CUP WASHER DETAIL
[{o]
| O N - ||A||
\
~ 3/8" R
- a1 1T 71 \/
tﬁi@:\
1] 1] ' } - /\ ) '
B >\_)\ | J
. A
M
CARRIAGE BOLT PLUG
- - - SEE DETAIL "E" SEE DETAIL "G -
T DETAIL C
C ——-—ro
|
PLAN VIEW E secTioN 'D" et "E"
3/8"R
DETAIL D"
CARRIAGE BOLT PLUG
o SEE DETAIL "G"
T Wl
g i i -, } N SEE DETAIL "C" 5
i :L__‘__ ______+___| ) CONTINUOUS WELD
Pt = 1 %
Ly PR Q — £ R i
I '_ i I = _| n n
N } %o | SEE DETAIL "A" 7 / -
iy oy o
N } 4
Lol ||D||
I I : 1 1]
Lol DETAIL F
L i "
Lo /2" |
| | |
" o
| | |
Lol
| | |
[ :N
Lol Y
ol -
[ []
Lol y o
Lo 174" X I" - 20 UNC
- Lo STAINLESS STEEL CABINET SHELL
» B GRPUNDING STUD,
Lo NOT GALVANIZED, .
Lo WELDED TO PLATE >
| | |
e ! S.S. NUT-(1/2") < |
o | -—
1/ ! S R C
T 1}
. Ik
L - |l on
e ) B ‘{_"_‘J: J ’ § S.S. LOCK WASHER-(5/8")
| v | __________°___J L, ] V A | »
B gl if
T s I SEE DETAIL "B" g
| | N
i i g8 7/8" S. S. CARRIAGE BOLT-(I"LONG x I/2" DIA.)
| |
| | =
| | [e0] 1] 1]
i i SEE DETAIL "D" DETAIL °G
L SCALE = N.T.S.
| | L—TA 7
N / \
| |
[ /! ! _______________ __-P 4 p) [ Q _____________________________ — 11 A
\« SEE DETAIL "F"
1] 1] 1] 1] 1] 1] 1] 1]
FRONT ELEVATION B SECTION A sSecTioN C -'C
|

LOCATION APPROVED

UNDERGROUND STRUCTURES COMMITTEE DATE

APPROVED BY

TRAFFIC SIGNALS ENGINEER DATE

RELEASED FOR CONSTRUCTION

@ THE CITY OF WINNIPEG

‘NT LN\ PUBLIC WORKS DEPARTMENT
lnnlpeg TRANSPORTATION ENGINEERING DIVISION

MANAGER OF TRANSPORTATION ENGINEERING DATE DESIGNED BY
I.{03/03/07] ADDED/CORRECTED NOTES AND DETAILS DRAWN BY N.C. 95/08/03 PRELIM. CHK. CHECKED BY
No| DATE REVISIONS BY DATE DATE DATE

STANDARD TRAFFIC SIGNALS
CONTROLLER PEDESTAL

SCALE
3" = Il_ou

DRAWING NO.

ST-34




